PHY 'S 191 Fall 2003 Quiz7

In the movie Abraxas vs. Terminator, Abraxas (ma=100 kg) is still chasing the Terminator (m1=80 kg).
Currently the Terminator istrying to escape by paddling a canoe (mc=20 kg) at 4 m/s away from the dock.
Abraxas jumps onto the end of the canoe with a horizontal velocity of 10 m/s. What isthe velocity of the
system? Soon thereafter, the Terminator jumps from the front of the canoe with arelative velocity of

15 m/s. Find thefinal velocity of Abraxas (sitting in the canoe).
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